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9.5 Making Inferences About Populations—p. 227-234
When you compare the means or medians of two populations, you need to take

into account their measures of variation.
Compare the medians of two populations with the same measure of variation.

1.) The weights of the players on two football teams are summarized in the

box plots.
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a. Show that the two teams have the same measure of variation (that
is, the difference between the three quartiles) and the same

interquartile range.
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b. Express the difference in median weight in terms of the interquartile
range.
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c. What inference can you draw about the weight distributions of the
players of the two teams?
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Use box plots to compare two populations.

2.) A class of students completed two science tests. The scores are presented
in the box plots.
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a. Find the median and the range of each test.
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b. Which test has a wider spread of data?

Tegr \ oS o agreader fonge

Than test Q. So, Test | has o
der Spread of dado.

\

80of 15 [ x | Createc witj l_))’ﬁf'e}
= . D ‘

c. On wh|ch test did the class perform better?
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Compare two populations with the same mean but different mean absolute
deviations.

3.) The table shows the game scores of Mark and Jason.
Mark’s Scores |2 (3 |8 |5 |3 (4 |4 |6 |5 |4
Jason’sScores (9 |5 |1 |1 |2 (8 |9 |2 |1 |6
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a. Find the mean scores for Mark and Jason.
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b. Calculate the mean absolute deviation of Mark’s and Jason’s scores.
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c. Draw separate dot plots f‘Q Mark’s scores and for Jason’s scores
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d. Compare Mark’s and Jason’s statistics. Then compare their dot plots.
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e. What conclusion can you make about the two players’ performance in
the game?
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